normalized x?

[[normalized x? probability ]

71 0.06 e
10 Std Dev 0.3208
=2 - Mean 0.5201
107 E L : : SK.daDev. 03208
. Entries 0.04f -1+ + " [Eniies 239755
=t I Mean 1.081 . Mean 0.5198
107! Std Dev F Std Dev
E - - 0.03F--t---
107F
10°F
T VT T
o N g @
1 Kk
Pl - v o A
09924 6 & 10 12 14 16 18 20 0% 01020304 0506070809 1
2 Prob(x?)
mmmmm DQM_original_originalvector_1000evt
e DQM_original_1000evt
m— DQM_fitted4_1000evt
s DQM_fit_nocpe_1000evt
A2
B b P b
Rt S S L
> : : : : :
T S SR SIS SR SRR
1.4
1.2 i
(%)
1 :
038 :
0.6 :
o L 1 1 1 1 1
K
o
A A 2r
i 2 1.8F-
% < 1.6F-
v Vo14F-
1.2F
-
2F 0.8F-
15F SE 0.6F
3 0.4F
o.5F 0.2f
o +Of ’ : o O
© ©
v @
0.5
0

-3 —2 -1
10 10 AR(track, jél’[?



	Contents
	Page 1


